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I Visual Company understated its 2016 ending inventory by NT$22,000.
Instructions: Determine the impact this error has on ending inventory, cost of goods sold, and

equity in 2016 and 2017. (12%)

ANS :

2016 2017

Ending inventory

Cost of goods sold

Equity

II.  The following ratios have been computed for Morgan Company for 2017, (20%)

Profit margin
Times interest earned

Accounts receivable turnover

Acid-test ratio
Current ratio
Debt to assets ratio

Morgan Company’s 2017 financial statements with missing information follow:
MORGAN COMPANY
Comparative Statements of Financial Position

12.5%
8 times
4 times

211
3:1
20%

December 31,

Assets 2017 2016
Property, plant, and equipment (net).............oooooooooooo $ 200,000 $ 160,000
IVENLOLY .ooovvverreeecrveneeeeeeeee oo 7 (8) 50,000
Accounts receivable (0€t)........owvuevuuvvreerosreo ? (6) 40,000
Short-term INVeStMENtS ..........ovvveeecoveeeemrseoeoo 10,000 25,000
GOSN e e 30,000 45.000
Total aSSets..........ouveereerenrrreeceeeeeeeeeeooooo $ 2. (9  $320,000
Equity and liabilities
Share capital —ordinary..........oooovoooveooe $ 220,000 $ 200,000
Retained €arnings.................oooeuveeeuvreeoreoeenmeresnsrsooo 60,000 35,000
Bonds payable .............o...coeeueemmmmromrnneeeeeeneeeooo 7?7 (10) 20,000
ACCOUNLS PAYADIE ..o 7 (7 30,000
Short-term notes payable....................ooeeomemmreoor 40,000 35.000
Total equity and liabilities ..o $ ? $320.000
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Income Statement
For the Year Ended December 31, 2017

INOE SBLES .o vssssmsonsomssimsssssssinisinmersrnsosermssssssiss s b e ses $200,000
Cost of g00ds SOId......cvemeeeeeeeeeeseeeeee oo 75.000
GIOSS PIOfit.....voeeceeceeececeeeeeeeeece oo 125,000
Expenses:

Depreciation €Xpense ..............o.vweeveeueermereooeemeooooooooon $ 2 (5)

Selling eXPENSES .....c..vuevurrurivrreeecereereeresee oo 8,000

Administrative eXpenses .............creeeverveverrersoooooooooon 12,000

Income from operations ................vveeeeeeeereroiveoso ? 4)

INtEIESt EXPENSE ......ceoeuveerrnrreiseiieeeeeeeeeeee e 5,000
Income before income taxes............couwuevemmemoveeeveoeoooooo ? 2)

INCOME tAX EXPENSE .....cuverevreeeereeeeeese e /i 3)
NELHICOME ..ottt vesses s et s e - T N

Use the above ratios and information from the Morgan Company financial statements to fill in the
missing information on the financial statements.

1). 2). 3). 4). 5).

6). . 8). 9). 10).
III. Multiple choice (Fill the answers to table)(15%)

1). 2). 3). 4). 5).

1. On its December 31, 2015, statement of financial position, Trump Co. reported its investment in
non-trading securities, which had cost $600,000, at fair value of $550,000. At December 31, 2016,
the fair value of the securities was $585,000. What should Trump report on its 2016 income
statement as a result of the increase in fair value of the investments in 20167

a. $0.

b. Unrealized loss of $15,000.

¢.  Realized gain of $35,000.

d. Unrealized gain of $35,000.
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2. At December 31, 2016, Jeter Corp. had the following equity investments that were purchased
during 2016, its first year of operation:

Fair Unrealized
Cost Value Gain (Loss)
Trading Investments:
Security A $§ 90,000 §$ 60,000 $(30,000)
B 15,000 20,000 5,000
Totals $105000 § 80000  $(25.000)
Non-trading Investments:
Security Y $ 70,0000 § 80,000 $ 10,000
Z 85.000 55,000 (30,000)
Totals $155000  $135.000  $(20.000)

All market declines are considered temporary. Fair value adjustments at December 31, 2016
should be established with a corresponding charge against
Income Equity
$45,000 $ 0
$30,000 $30,000
$25,000 $20,000
d. $25,000 $ 0
3. Principles of internal control suggest that (choose one):

e P

a. Responsibility for a series of related transactions (such as placing orders, receiving and
paying for merchandise) should be assigned to one employee.
b. Responsibility for individual tasks should be shared by more than one employee so that one
serves as a check on the other.
¢. Employees who handle considerable cash and easily transferable assets should be bonded.
d. Try to increase E-commerce exploits and naively believe that employees can control the
related risks.
4. Bear Co. purchased $500,000 of bonds at par. Bear management has an active trading business
model for this investment. At December 31, Bear received annual interest of $20,000, and the fair
value of the bonds was $470,400. In Bear Co.’s year-end statement of financial position what

amount will be reported for the bond investment and how much total income/loss will be reported
on its income statement?

Statement of financial position  Income statement

a. $500,000 $20,000
b. $470,400 $20,000
c. $470,400 (89,600)
d. $470,400 $49,600
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